SARPLING & €STMATIN

S alVTiens

a1) )

")

)

<)

P 26,28)

Pr(38)(a) -

426,38 =

%)

“36 )1,

M)

?G\S‘;

s
ZC,' X C3 -

30

5
PG k7C

c= LHMBMN b Y (Hh}

Y eyen Sovp ]

q
3CJ x €

}Cq

e3¢, 19 + lilue,owm

=

4 3

*c

)

3
qc‘tg Co

Yeu

w

3s

84) KM eER gOLA 3 v , 6 consT

A
3 ¢
., x G s
?r('lV)I"—) ) H.
a : :
Cq
3co k' C 5
B F!LOV)‘(L) - . + 5
qc., 42
@s) Sa, S8
S s
Ga L Cp 0
K] tr(or,Ge) = - . Bea
Cs
S S 2!
Vorlieyee) o ST oo
CS
< <,
c) Yl(‘lﬂ,":b) 2z i’k‘(} - %35
\gcs
H 3a, tp) - 2=
p ( v tB) o

g) (4, tp) - 5
Z5 1

L

£) Nlse,os) = o

Q6

4
k) (Reeircen) ¥~ ity 5
‘\ 1 Z ~
niea) = 6 (3 (3)
L
= 0.%6 G 240\ )

3) QOY RE P Lreen )

Y 2
C, ¥ C ;
(e, ey s XS
Y, 3s

o.sl)

VR
L1



a1) (repiaces) L~ Bi (s)‘:")

374 (%
p ks 3) = S (%J (" )

84) <€,€FU«CED) ¢~ B (‘5) —;:)

v pe (K =32) = SCs Ci)3<;--‘JL

T D-293

& So SSw

- o34
_ 4 o000
T psel.
SC b |
g te(2r) ) - Sk G
Q C’s
g B
) 21
2 0.4%
RY, Q‘t‘f’lm%) ¢~ & (4, 0-L)

«C‘L ( O.L)L(ro-‘t)\'

«

h) P‘(%"—'L)

216
62§

(4

12

0.25-

B Q«m’ gt t wied )

P 2 ormuey) Z AcplLes)

) % oo

Co

N
‘\'

Loo»

0-35%

)

8) Py (3ey12¢Y) = C.
leo?:s
~op2%
3
@\°) T = t° 0.535S
e} + 43 -
v \
a ) BFE Sg = . S
¢ 2
Qe ) e = \T E Y
% 4 . N _}3:_
8) ’%:—5’ vy P=5s
o n 3 (v\'\') ,{}:_SL
@ p> 5 P
("M N _7:_, (V;\.“) i;-’-’?
f =5 P
(W) /‘;; o (¢ P=<
s
2
(9 3 (X o =
(\’\ ?.: -S" ) ? <
[ ]
° L]
° e e
® [ ] [ L ]
c) Y { ¢ ' } ¢
L 2 = s
s s s s pe

#2



Q1)  wer K = H or axo

N Cen

/) PilK=o)

Le

?T(S{:\\

te(2ry 28y

—-v
)
—
x
\(
N
N
A\’

C
o
I
Y
o

Pl s a) = b («"\ D ey

‘(
G - Ce

H(_
Yy

«

q

ess

(45 9)

14

165

330

q[e a0
"j Mw

leS

8) (i)

8

_v
2
/'\
)
N
o
o~
P

)
33

pl=

A
ss

N
16§

Alw  ofw

't Be

I

LE e Axpaures  SAMLG

PRopoRTIon 1S EOVAL o THE

fPRolopTioN .

F |ef~

w
W
Q

$#3



N

p - 2

E

S5)
)

Ko~ B (‘1') o.z)

%) R
i) P(('F?/o.?s) < TT(K=3)4TV((:‘£)

0.07F7

() P peers [ ¢ < 035)

= P (K7 (KSS)
Yr( g2 deo L <3)
?"“K)sz)

Poly= \3-\ T U(=1_).\‘F/(Q:J)

Tr (£ & 3)

UAWE o TME

—

THe grpec®?

SAMPLE RO fBRTION VRV TME

Popvuion P RaPoRTio N -

W) pen (g )

p=F T4z

e | f-p
v
Jm-ﬂ
VT oo~

D.OoI1 56|

~
) USING voRrmCPF

nJ

/

-~
-

0.023%219. —=10.2(09

QH) % NNL}V‘\“’)

(NYJP..MA\, MFRO)()

{t

VALAN

/
T (%?o.w)

NORM (B F

= 0.7.(\‘1

e Ur ANSWER

Pr( T 7o.45) 8 (P co41)

H4



n

'3)

P~ N (po)
M;F:O-OS
0 = \)M %0.048 334
N
M te(p 7o) = 01525

UG noem CDF

Pl p7o-t [370.05)

%)
o § 7o e 77205
v((a~70.0f]
=0-S Since
- P ( ¢ 70-1) pm=00S
0.5
- 03049
_ X
@(\) B) AA_ F -3
?NN(/“\U/\
g |eU-¢
n
lL.2a
= r o d ~ 0-05
o0
Pl fr0-51) % 6.42071
<v§c NMORMCDY
1.
g o= “o:o % 0.01%8|
{T(i:?o_s"\) < 0.2639
401
s] O t * ¢ 0.00S

¢ 000

P ( 6 7°-’L) = 0.0211S

@L') & 210
P 5oa T o2
0.l
0.4
021) Tl 2Clcevr) = 0.% 0-
A)
S W(Z <-2 )= 0. | 2 3
A .
-2 = -1.2%155 ThIL.
z = 1-19155 « .28
B N(-r< 2 cw) =0
0.94
0.0l
V'(Z(—E) Z 0.9} \[ 0-0
l
-2 = 2,358 ' \
2 = -2 2 , T 5
Zz - 2.33
o) e ( ’2’<Z<’6) z0-999
0.244A
0-.000%

2(Z<c-2) = 0.0005

f

—
T

-Z 2,.2“1053

Z = ;-110 5% & },ZT

A AL 4
o) P= 32 - :O'TO
(-5
M=z [Lab L(_,—L) < Ol‘b (WL\"‘ Of—SlUOP.)
D
9¢7.

CANE IMBAUAL = (0'4 -0.t% lol( +0‘lﬁ)

= (0.22)0.51)




0“7'3) ? s — < O-G?Z_ "
000 )y v = (oos) )03y w uy
p-p) ! a 5o
90 FP | 8) = . L2200 =20.2
M ( ) ~ 021 J 2% v
C) MRUIN oF CRrRor
187 e woeert = (0431 -0-0141, (T
M bt (-C\G T

0.6} -\o-olq)

o-21(1-0-12)
= (0.64,0-%0) =\ j“/—ﬁ:—

= 6% £ oo.
P 0-6% £ 0.03 LITTLE  CLARABR

MR D &

[.E.
THAN  THE Qgsim-€p
SRR,
a24) . ( T 037 0-43 (= v-47) -
(oNE. [VIBRUAL = (O_ 2101 -0.0534g ;
= lotb 0.l19l *o'ofh)

=~ (o.t7~) 0.27)
ws) vxs(%\v\”(o.q)(o.t):ln?
p)  TAE  AST. CenPEMLE IvTRRUAL
9 M (%‘_‘—:l)x@,q)@.g) 2 2306 STIWL  ConwTMNsS THE  PREVISVI  poinT

BSTIMATE - (T T QRO BARLY

'% 15 o ~ 230 IMCRRMED o THsuhM  We  Camnor A
o )@8) o ¥ 5 ) 1

£}

TS WM 45% ConflencE.

g B : ((ot\: )x q)@l).\,‘sg}
(

ML Qounsen uf

b




n %0
f = ?o X - 4F5
Qz7) A) FIRST STEP - - 0.0
0.\
?((-?:<'Z 41:\:0-% \‘L \\/
-1 8 Z
(2 e-2) T O
9 2z - .23
n ‘_—\
m‘: "lb 5@) /’3 0.01165
’Y\
50, Co ME. InTCRUNL
= (o'l(:}')‘ —0.311h3 )()‘\HS "O-Oll(a})
~
% ((0.45 0.590)
%) Tiker  sTEP !
Wm(-r <2 c2) 0.7
Pe(& <-2) 5 0wl
2. = Z.3%UW3S
2 ‘?(“(’\
" 31835 w2 0. 0Hle}3

189, Cowe tmveavmL

-

~
~

(0-“3) 0.52.)

o

As

(orurs—~0.04T033, 2.u3s +0-040033 |

—
—

?PQ—z <l<2> o.ia(

<
'(r('é<-@> = 9.0°§
Q Z2 = 2.3315%7
M = .53 5 33 F-(;L) & 0.0454333

Q8% ConF- IR

3 — -4 54337
_(o.qw 0-4s )

6.y3s ¥ 0UItF¥Y)

~

~

(0-43)0.52)

C-T,Q o D.e., MMIT I3

ME  SAME as v PART (g)

AY THE  (opFORMLE (N CRCASES

0)

QeTS  \WIPER |

ME  wTervAL

A ™
&?-%> ) F:’ T;; :o.\'—i-‘

P2 <2 «v)=0.71

%) 2 -t<2 ¢x) =0
Pv (Be-z)=o05 | Ul Le-v)= 0-095
S 2 = [Lh4ud S 1 <=n.5%S3%
~ o a "(_ﬂ)
M = pgugs |PCHR) 5 (e
( S = Me LEHIN jo
~0.07%| - 0.0%43%
0%, Cow® Wi 9%, ConF- (M-
;(Q.H"O-OQ'(' :(o,(q-c).o';‘\ﬂ))
0.0440.057 ) 0144 0.0643d)
> (o.n%)o.lo) = (0.05)0,25)
€ Conprpenit (MCRBATES THE  (~TVAVAL _.“:__'l

n

WIDEenS



